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1 10.4 12.2cm
100cm 30cm  40cm 3
1 1
(mm)
Ac ( 0 30cm) =1.44 kgficm? 5 158 440 92 154 318 21
5-10 31 81 24 31 31 3
Ac ( 30 60cm) =0.67 kgf/lcm? 10-15 9 35 7 14 11 1
15-20 12 13 3 9 5 1
AC( 60 100cm):0.07 kgf/cm2 20-25 10 5 0 6 3 0
25-30 3 3 0 5 2 0
30-35 5 3 0] 4 1 0
35-40 5 3 0 3 1 0
40-45 3 0 0 3 1 0
100cm 45-50 3 0 0 2 1 0
50-55 1 0 0 2 1 0
55-60 1 0 0 2 0 0
2 60-65 1 1 0 1 0 0
0.07kgf/cm 65-70 1 1 0 1 0 0
70-75 2 0 0 1 0 0
75-80 0 0 0 1 0 0
80-85 0 0 0 1 0 0
85-90 1 0 0 1 0 0
90-95 1 0 0 1 0 0
AFs o 95-100 0 0 0 1 0 0
=30 v=2.0tf/m’ H=1.0m
AcC 0.7tf /m?
AFS = - = 3 ; == 0.7 (3)
ysHsing  2.0tf /m® x1.0m xsin30°
1) (1998) 7 2) (2997)
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